[EXIMA RS 98] 2 BTANAELSS 2ol S8 DRHISUCH
Hews xal7|zh
- _
HIOAPHXEEAIIMIEA
01-01-C-2400555 7
M RY oto|HEH A of = %} g & AMAXSEHS 116-02-12052
goxy: 28E
MUERF H7| BHA| B2 433 3%, oto|H{EH T o 2tk ol 2% 1 010-8740-8225
A 032-613-6346
D NEY 2en Hadgs FnFY I A abel 3oy ol Tv
o 8 Ab ofo|HE 2 H = Ap EEE! Az 28 0% (A2H
gony U2mel Mo N4
TP L I R PSS
&AL A2 YB(XT 2 HWE)
mE]
x|27HA| |3 MES eldaUchi?a Hatche & Bko] 22 25%771 1]
ZaYe MTHS AF8H0{7|0f O BCH= AO{IZ 252 B 2=20(H
e HZS 9IE Aok S LR Sr10| 2EE B Aol B ALY
Chzezo HEdas
SAE) a4 E 0| ol Uch =M $HH M3 No| ST HEA 17|
ESUH AlstE Ee .
zd 0 deaadye dEye
Moz
T Ltol= S xtoll EIBHLICHP100M AlCHI A28t A2 s 22 o
S zto| EZuYoz AMBH HE AR
HZHAL B
2o3) &etn Alge 2 &g 9l
Sem} el gl g, AR MK MIb &Y MAMM &L CH
HAY
223 azto| sy &L choak & & ol Ychi?r | S8 xS 3lof
Frhe Feea T2 Fee Fa 25%L BerEo Y BXL2 s
TS A3t ALEES BHol !
Hemel
]l

g=guxsdo’lT AS

D=9 AN HEE ?le Zol 43 Fyct.

20244 29 59
AFel ofo|HEH =

Melolg

ikl
1
[N
0

[FlEys)
=

g

0z
lo
e
fol

24-N1-06-28

7|Et




[EXIMA 1

oK
ol
<0

=0l

4of

0{ 7ol

il

K
R0
or
A

~I

oIl abat

2 70% &ell

o
e

o 2gr

4 k2100

fLatA | DTS

Zg X257} 59,8008 117

=k 46,4662

el

s

o277}

PO Al 4

st

39tA 300€

IE 1008 C1?5 10702

ol 100&t

=)

2

2k?2100

<o
0

2 S8 & =4

100M| 24

B AL7| 2+ ~2024.12.30 7HX|

g4t

S UE A

2|1 7t
IHAZ+10Y O & 18fA 1008 59,8008 71071 €2 & 3tk 3008+ 139,400

& 30275t

S

?7SHEHEE> S 7

2

7ol
L]
o
L3l
ulo

=

I|EFE

79

x

2 0.1% X

FREH

et

1 0.2%

X
&

25% AtHE 22%ZE=Z0|

/A

=
=

L& 25% 771 H| MCt

3

k=1
&

ek /3

3|

de>%F4 /olH MES AAEHEH>S YT 7]

o

30

Kk
)

Ml

ol

4 sh o

|

E)?a'g Agkol ofdHct.?

A

100M| Al CH
dez

Eg=R =T

HY/EE

v g, AR MY

b

k=
B

<ol ot b

H7hSE AZAMA e

Lt

=
=

gt AL

ozt 2xdF0l 7|5/ #

=
=

?

o
T e

Ucheag e /otduychi?z|H BT /Y

A%/ W&

=y
=

o
a2

s

ol

o

ol

+102 o

71008 HA &

ol 7H5 1008+

gt

QEUE /EZT /A /P & 78

71&

Ll

ok 70% el AatEd =57} 59,8008 (19,933x37H &)

|

of 7+ 200,000

B

ol
2
Tl

7| Et

Q
2|
"
£z
N
R0 ol
o R o
o | o ~
0 0
oLl
o
o
il




a

[Te
o]

0
0
oR

ol
<0

PIENEIELRT
+100

2
=

S1000e &2

+
21

2

2H+1008H

100:
300

139,4002! (46,4662 x371 &)

sto|
el

=7t

4gk

179,4008!

g

2

,466xT3

2t 46

2 300

=13
gt

19,933 #3710 2 & 3

gt

=

JHEZ+10 O F 182 100

70| F2HlE 3020[L

of
al
i

7| Et

©
N Y
joll &b
R @
Els
0 <

I\
RO of i
_u Il w
or o ~
| oz

u

or

or

<0




